
Language Testing for English Sentence Processing (UoA)

ABOUT YOU:

School of foreign language studies? 
YES---What’s your major? □English major □the others








No--- What’s your major? □arts & humanities □the others    

Native English speaker? YES---Where were you born?□UK  □USA □Australia □the other English-speaking countries

                                   
   NO---Where were you born?□Greece □China □the other non-English-speaking countries
Date of birth (month-year):                   /                   

Sex:   
□Male  
□Female




Status: □freshperson  □sophomore □junior  □senior  □postgraduate 1st year  □ postgraduate 2nd year □the others

INSTRUCTION: 

The PPT can run automatically with time interval of 7 seconds.  It takes you about 15 minutes to complete the test.

You are required to choose ONLY ONE choice by ticking the correct one. 

The specific meaning of choices: 

      


EXAMPLE: 

When the sentence “The horse raced past the barn” appears, you tick “□+2” meaning it is “absolutely correct”.

When the sentence “The horse past the barn” appears, you tick “□-2” meaning it is “completely wrong”.

TEST RESULTS (S1 represents Sentence 1; S2 represents Sentence 2; and so on)

S1
Result: □-2;□-1;□0;□+1;□+2

S2
Result: □-2;□-1;□0;□+1;□+2


S3
Result: □-2;□-1;□0;□+1;□+2

S4
Result: □-2;□-1;□0;□+1;□+2

S5
Result: □-2;□-1;□0;□+1;□+2

S6
Result: □-2;□-1;□0;□+1;□+2


S7
Result: □-2;□-1;□0;□+1;□+2

S8
Result: □-2;□-1;□0;□+1;□+2
S9
Result: □-2;□-1;□0;□+1;□+2

S10
Result: □-2;□-1;□0;□+1;□+2

S11
Result: □-2;□-1;□0;□+1;□+2

S12
Result: □-2;□-1;□0;□+1;□+2
S13
Result: □-2;□-1;□0;□+1;□+2

S14
Result: □-2;□-1;□0;□+1;□+2


S15
Result: □-2;□-1;□0;□+1;□+2

S16
Result: □-2;□-1;□0;□+1;□+2
S17
Result: □-2;□-1;□0;□+1;□+2

S18
Result: □-2;□-1;□0;□+1;□+2


S19
Result: □-2;□-1;□0;□+1;□+2

S20
Result: □-2;□-1;□0;□+1;□+2

S21
Result: □-2;□-1;□0;□+1;□+2

S22
Result: □-2;□-1;□0;□+1;□+2


S23
Result: □-2;□-1;□0;□+1;□+2

S24
Result: □-2;□-1;□0;□+1;□+2
S25
Result: □-2;□-1;□0;□+1;□+2

S26
Result: □-2;□-1;□0;□+1;□+2


S27
Result: □-2;□-1;□0;□+1;□+2

S28
Result: □-2;□-1;□0;□+1;□+2
S29
Result: □-2;□-1;□0;□+1;□+2

S30
Result: □-2;□-1;□0;□+1;□+2

S31
Result: □-2;□-1;□0;□+1;□+2

S32
Result: □-2;□-1;□0;□+1;□+2
S33
Result: □-2;□-1;□0;□+1;□+2

S34
Result: □-2;□-1;□0;□+1;□+2


S35
Result: □-2;□-1;□0;□+1;□+2

S36
Result: □-2;□-1;□0;□+1;□+2
S37
Result: □-2;□-1;□0;□+1;□+2

S38
Result: □-2;□-1;□0;□+1;□+2


S39
Result: □-2;□-1;□0;□+1;□+2

S40
Result: □-2;□-1;□0;□+1;□+2
S41
Result: □-2;□-1;□0;□+1;□+2

S42
Result: □-2;□-1;□0;□+1;□+2


S43
Result: □-2;□-1;□0;□+1;□+2

S44
Result: □-2;□-1;□0;□+1;□+2
S45
Result: □-2;□-1;□0;□+1;□+2

S46
Result: □-2;□-1;□0;□+1;□+2


S47
Result: □-2;□-1;□0;□+1;□+2

S48
Result: □-2;□-1;□0;□+1;□+2
S49
Result: □-2;□-1;□0;□+1;□+2

S50
Result: □-2;□-1;□0;□+1;□+2


S51
Result: □-2;□-1;□0;□+1;□+2

S52
Result: □-2;□-1;□0;□+1;□+2
S53
Result: □-2;□-1;□0;□+1;□+2

S54
Result: □-2;□-1;□0;□+1;□+2


S55
Result: □-2;□-1;□0;□+1;□+2

S56
Result: □-2;□-1;□0;□+1;□+2
S57
Result: □-2;□-1;□0;□+1;□+2

S58
Result: □-2;□-1;□0;□+1;□+2


S59
Result: □-2;□-1;□0;□+1;□+2

S60
Result: □-2;□-1;□0;□+1;□+2

S61
Result: □-2;□-1;□0;□+1;□+2

S62
Result: □-2;□-1;□0;□+1;□+2


S63
Result: □-2;□-1;□0;□+1;□+2

S64
Result: □-2;□-1;□0;□+1;□+2
S65
Result: □-2;□-1;□0;□+1;□+2

S66
Result: □-2;□-1;□0;□+1;□+2


S67
Result: □-2;□-1;□0;□+1;□+2

S68
Result: □-2;□-1;□0;□+1;□+2
S69
Result: □-2;□-1;□0;□+1;□+2

S70
Result: □-2;□-1;□0;□+1;□+2

S71
Result: □-2;□-1;□0;□+1;□+2

S72
Result: □-2;□-1;□0;□+1;□+2


S73
Result: □-2;□-1;□0;□+1;□+2

S74
Result: □-2;□-1;□0;□+1;□+2

S75
Result: □-2;□-1;□0;□+1;□+2

S76
Result: □-2;□-1;□0;□+1;□+2


S77
Result: □-2;□-1;□0;□+1;□+2

S78
Result: □-2;□-1;□0;□+1;□+2
S79
Result: □-2;□-1;□0;□+1;□+2

S80
Result: □-2;□-1;□0;□+1;□+2

S81
Result: □-2;□-1;□0;□+1;□+2

S82
Result: □-2;□-1;□0;□+1;□+2


S83
Result: □-2;□-1;□0;□+1;□+2

S84
Result: □-2;□-1;□0;□+1;□+2

S85
Result: □-2;□-1;□0;□+1;□+2

S86
Result: □-2;□-1;□0;□+1;□+2


S87
Result: □-2;□-1;□0;□+1;□+2

S88
Result: □-2;□-1;□0;□+1;□+2
S89
Result: □-2;□-1;□0;□+1;□+2

S90
Result: □-2;□-1;□0;□+1;□+2

S91
Result: □-2;□-1;□0;□+1;□+2

S92
Result: □-2;□-1;□0;□+1;□+2


S93
Result: □-2;□-1;□0;□+1;□+2

S94
Result: □-2;□-1;□0;□+1;□+2

S95
Result: □-2;□-1;□0;□+1;□+2

S96
Result: □-2;□-1;□0;□+1;□+2


S97
Result: □-2;□-1;□0;□+1;□+2

S98
Result: □-2;□-1;□0;□+1;□+2
S99
Result: □-2;□-1;□0;□+1;□+2

S100
Result: □-2;□-1;□0;□+1;□+2

+2





+1





 0





-1





-2





completely wrong





partially wrong





not sure





partially correct





� HYPERLINK "http://dict.youdao.com/w/absolutely/" �absolutely� correct
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